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7) Pendolu Equahion :
A Peﬁgdtwﬁ C.msl&**“f% ot s b&» of s v Sy
On 0 mossless rod of 56r‘~9§% L. LetOfF) be angoloy 217 Aot
ob the pebdlomn £ seonds obler i is released [radiang),
f\SJu“‘\'f“ﬁ oy force s gravity | wile Newhns 200 I i diredion
0§ trolen C_L fo r0&\>‘ D: onre gﬂomﬁ are 14 GH= 2 6(0/
So velocity v §'(1) = 'S @t(/@ ond OLeelodng, §I£G)f~” 1O ”@'}
0 Ex()\gm w\f\\} Newtané 2rd Law o V"ﬁ@’”é{’>z“m3§m@

wheee o= A 8w/t i e acelogion due P gy,

AR N

4 | st F=ma and  S"(1) of fhe

K | dsone of s = acelepivn = Qﬁ“@)
"‘;F’«ng) O = ,Q@“(}'B whith 7 ﬁ‘&gua) fo

the o on the other siye of The egy
E’) Sin @ y e {,ﬂ;»a-a«_;{;am@/\\' st actedesahiom
ofthe force O0ne by gravity,

Grwily  ponts i egoing Qittdapn agansy O,
] @
b, \Wrde Y equaken o5 07 + W, s 200 whee Wo = :

P

80"+ mysm® = O
g@&égmi ;
& + ISM -
8u 4 NO’LSMC;) = (O
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7> C EQU&HD\/\ S nenlineor TF con be )inearized )yy a 55(”%
Tne oyl o &}SP\A(MMS dafe Small  an) Using the approxi ohipn
Sin dhdha RO, S Jhat e (ef..;)f';hg |ineor pend lom
equsinis O + 26 = O |

When © 20 then 0 x O
o O amb
Shbdivle O [ @8 in quavion from pait b.
}m@ﬂ + wﬁ(‘@}rﬁ@? the  Jinesr Ffﬂ()d?um Cqvdhi on.

L S S/

cxs

6& Ex{)f?SS the ?f’f&‘a& o ke ;’.?fﬁéubm in 7lF'/y145
ot 9, SL IF Ahe lengtn of fing pesdilom (5 increased
\O‘«—»} o Yador o} 2, \o»x; whot Saclor Boes the g??{“?'gb\ chong(%?

. _ N Q: ﬁ)—«-— = |3
gf{rod - ” I/\)O 2 LJO - E
S— - !
o T
Priod = — - Q‘ﬁ\}w‘“’ j
[PW ¥ )
} f)er;oc) ) 34 j o atar 2L ,f
faor._of_ptrins_chonges by T3 |
e
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